
Page 1/ 1 Subtraction exercises - Toupty.com Grade 3

Exercise 1

Calculate the following subtractions :

8467 - 350 =

4897 - 592 =

3663 - 431 =

5556 - 145 =

9494 - 391 =

8861 - 231 =

4998 - 625 =

5746 - 436 =

4793 - 242 =

7548 - 212 =

8766 - 754 =

6787 - 235 =

Exercise 2

Calculate the following subtractions :

8848 - 826 =

8394 - 234 =

3494 - 463 =

7393 - 190 =

4758 - 145 =

3989 - 289 =

4695 - 654 =

9456 - 136 =

9897 - 115 =

8969 - 427 =

8895 - 494 =

6850 - 510 =

Exercise 3

Calculate the following subtractions :

5749 - 523 =

5991 - 871 =

5162 - 120 =

8965 - 255 =

7997 - 454 =

5684 - 262 =

6727 - 120 =

5866 - 203 =

8738 - 425 =

4418 - 317 =

7614 - 500 =

7636 - 206 =

Exercise 4

Calculate the following subtractions :

5468 - 232 =

9747 - 701 =

7676 - 253 =

8467 - 261 =

6676 - 602 =

8958 - 335 =

2698 - 434 =

5497 - 313 =

2852 - 840 =

3759 - 651 =

3887 - 732 =

1848 - 135 =
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